
Math 255 Quiz 17 March 29 2017

Name:

Problem 1: Recall the functions τ , σ, µ and ϕ defined in class. Please compute the
following values:

a) τ(6)

τ(n) is the number of positive divisors of n. The positive divisors of 6 are 1, 2, 3 and
6, so τ(6) = 4.

b) σ(5)

σ(n) is the sum of the positive divisors of n. The positive divisors of 5 are 1 and 5,
so σ(5) = 1 + 5 = 6.

c) µ(8)

Here 8 = 23. Since this is divisible by 4 = 22, µ(8) = 0.

d) ϕ(12)

The distinct primes dividing 12 are 2 and 3. Therefore

ϕ(12) = 12
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